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QUESTION 1

Review the definition of the Calculate user-defined function.

1 Function Calculate(&rate Az number in, &output A= number out)
2 &output = &Soutput * (1 + &rate);

3 &rate = 0; /* Reset the rate to zero */

4 End-Function;

Then, review the invocation of this Calculate function in a FieldChange program:

1l Local number &incr = 0.12;

2

3 Declare Function Calculate PeopleCode FUNCLIB ED SVCS.CALC FieldFormula;
4 Calculate(&incr, EMPLOYEE.SALARY) ;

Which two corrections are required to allow these PeopleCode programs to be saved as syntactically correct programs
that produce valid results? (Choose two.)

A. In the FieldChange program, move line 3 to become line 1
B. In the function definition, delete the in and out modifiers on line 1
C. Delete line 3 from the function definition. In the FieldChange program, add the following as line 5: andincr = 0;

D. Replace line 4 in the FieldChange program with the following:

Local number &salary = EMPLOYEE.SALARY .Value;
Calculate (&incr, salary);
EMFLOYEE . SALARY .Value = &salary;

Correct Answer: BD

QUESTION 2
Here is a partial list of steps in the component processor flow.

SQL select

Search page

Reset defaults

Add row to buffer
Standard system edits
Wait for user action

o0k N

What is the correct order?

A.2,4,51,3,6
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B.2,1,4,3,6,5
C.2,1,3,4,5,6
D.1,2,3,4,56
E.6,2,1,4,3,5

Correct Answer: A

QUESTION 3

Choose the correct statement about translate values appearing in the drop-down list on a page.

A. The translate values must be active and have an effective date earlier than the effective date on the prompting table
B. The translate values must be active and you must enter a short name when adding the translate value

C. The translate values must be active and not contain any special characters

D. The translate values must be active and all values must have the same length

E. The translate values must be active and have an effective date later than the effective date on the prompting table
Correct Answer: A

Reference: https://docs.oracle.com/cd/E41633_01/pt853pbhl/eng/pt/tapd/task_UsingtheTranslateTable077674.html

QUESTION 4

Select three changes to a record definition that require you to rebuild the SQL table. (Choose three.)
A. You change an ascending key to a descending key

B. You deselect the Alternate Search Key check box

C. You change the length of a non-key field

D. You deselect the Search Key check box (only) for a field

E. You change the label of a key field

Correct Answer: ACD

QUESTION 5

This exhibit shows the Structure tab of the component definition.
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[E2 PSU_TASK_RESOURCES (Componert)
L2 PSU_TASK_TEL (Table) - Search Record
- Scroll - Level 0
. PSU_TASK_TBL (Table)
o Scroll - Level 1 Pamary Record: PSU_TASK_RSRC
= %% PSU_TASK_RSRC (Table)
@ TASK (Record Field)
Gde RESOURCE_NAME (Record Field)
$% INSTRUCTOR (Record Fleld)
@ PHONE (Record Field)
& PCT_AVAILABLE (Record Fisid)
o COMPLETED_FLAG (Record Feld)
- DERIWVED_TRAIN (Denved)

= Sk PSU_TASK_EFFORT (Table)
e TASK (Record Field)
de RESOURCE_MNAME (Record Field)
e EFFORT_DT (Record Field)
$% EFFORT_AMT (Record Field)
& CHARGE_BACK (Record Field)

= Scroll - Level 2 Primary Record: PSU_TASK_EFFORT

The following PeopleCode program has been placed on the Rowlnit event for the Level 2 component record

(PSU_TASK_EFFORT)

If PSU TASK RSRC.COMPLETED FLAG = "¥Y" Than
Local Record &Rec_TaskEffort = GetRecord():;
For &i = 1 Toc &Rec TaskEffort.FieldCount
&Rec_TaskEffort.GetField(&i) .Enabled = False:
End-Fozr:
End-If:

Which three changes are required to move this program to the Rowlnit event for the Level 1 component record

(PSU_TASK_RSRC)? (Choose three.)

A. Add an outer loop to loop through each row in the level 2 rowset

B. Instantiate the level 2 rowset from the level 1 row

C. Add on outer loop to loop through each record in the level 2 rowset
D. Instantiate the level 1 row

E. For each level 2 row, instantiate a record object

F. Instantiate a record object for the level 1 row

Correct Answer: BCF
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